[(GASHER]

T F B O—Fk HE R NO B 1
=k k2658 H8H % BEH 9:30 ~ 10:45
I~ REESILEY T 7 —F
9 15
EEhIL O 21 — 9 O ® g AL
8 - 12
e e o ik Lok
@ H&/EEFI%$X 62 < 20 _ 13 >~ 43 EHEEEFI%$X
_ " 13 - 9 _ "
BHIE 141 L ) ZER 1
oT
gy F=E INEPFE HERER 2T aR 22X
[AA F—%2 LK) X=RA—T 4T AUN—  S=HIERFE  TE=HEAL
% R BN {1 g1 BH SERM
E F K A|Pin|BR|3P|2P|FT|RAEl I E F K 4A|Plin|#ER|3P|2P|F T|&A
4l LA FRE | x | 11 51112 4| =85 EF [ x| 8] 2 |1 2
5| & B | x| 4 2 4 5(fHE tHIEEF| x| 0 3
6| /NEF RIS | x | 21 9134 6| &% =#&H | X | D 21114
71 4L | x| 14 6| 2 71 E@M ®& | x |15/ 1|5 2
8| #&A #0 0 8|fER =<l X | 6 21211
o| A FiE 0 ol kg EmMH || 5 21112
10| FHF "W | X |12 6 3| |of BFXk ML || O
1| {Fig R 0 1| Bk MR 0
12 & THE 0 lwiE F&F || 0
13| T ER 0 13| fglE #&m || 4 112
14 K8 FR 0 4R HEH 0
15| ;TA KBE 0 1540+ BIEZE 0
16) TE M= 0 16| £A FE 0
17| fEH =K 0 17| FA FE 0
18| FE EHE 0 18 & #® 0
c| BE #HA c| fIEF HF
& &t 62 0 (28| 6 |13 & § 431 3 113 8 |12

2014/8/8




